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Exercise 5.8 The set 5 08 delined 1o e the least subsed of natural pombeers B
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if n 8, then 3n € 5;
ifne S and n =2 then (n—2) £ 5.
Show that = [me M| Jr,sc MU0}, m = 3" =25}, Deduce that 5 is the
st ol ol ombers. a 5
------------------------------------------------------ .



——

—

Q: L wikdi gﬂ“"m? sehsdev
5¢ -‘:L{&J\ ?'ﬂ'h!*: ' &X‘Vf"}aq

i\ & fb{ﬁ{— virla T,= Qn
R - T2 (1 4 }
Atd' B "){ ?mPt;t"Hbq; vXCR, N
o 4€Q
Pﬂ‘{“‘“er. the  arhion p{- R ME

R;’f.',_?:\ ] ﬁ;‘_‘_ﬂu‘}
ﬁ(‘,@): i ‘a»‘ a\<=B ()(/;]BER}

E"i’_fz‘:‘“”“: B iy Reched 'Fﬁ: l|é\CR>5 53
_— G oA

ﬁ oA m\n‘.‘f(ﬁ?\.ﬁ»

munb"!‘hn; L.

Dlﬁe,mﬁw\“
At = RP)= @)
st o B [1d]

A, = /Rq"(?g) = Ree)
A= @)



A s all A aximg
AN«\ [y the onchetinng ]v’“‘@f»‘hdﬂ[a "J[O//‘mr -:Pmm/](q

Ay = A\S A= A,,QAMC\“__‘-W

- ofie o
TAGDWW“\ : vules n R are Al Mj

tho T Al R-cked, V B
© Rib- v

@u e o /@m o —> M=

No\n‘ N[ S‘}’DUJ ‘{/”CM_, M’EB

Bose ZA\B =. B ‘?-FM Q/g Dt@ﬁ]/*\/
lokeotie:  acsom A <

A oAV
AM)_ — RCAVD = _@D:’E é"]



Tovskis Fed gt Thoo
Thee € minimel Yering ) U qst | PW) puor af
Lof @ P)> Py monstoare. (ot ) fuchion

Deflne m = ﬂ{ Sgu-l (TD{‘?EEJ ,

Tha s oafixed point of @
i\ I““’%m‘&m WA (ead pawf sf @
| N snt
poof oy su/ DSz <

i

quél géx/ —r?l{ln MES

Arm) = QIS) by nmm(;%t_/‘
Yy < S L

e AmES £ ay Doy




(o = T AR o] e by L

= m e me gy
C A)

? ey < @o)

Thao Peye =] S“é,@/%%ff( y

Then . = SDCWO




